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1. (Please answer this question in English) 60%

Agrifoglio (2004) compared the performance of six professional interpreters in sight translation (ST), simultaneous
interpreting (SI), and consecutive interpreting (CI) and found the following results:

(1) Expression problems and meaning errors were more common in SI than in CI.
(2) Omissions, especially of entire passages, were more frequent in CI than in ST,
(3) All interpreters had fewer meaning problems and more expression problems in ST than in SY or CI.

Please explain the results of the study based on your understanding of the difficulties interpreters face when performing these
three modes of interpreting.
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